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How far is 
each number 
from “0” on 
the number 

line? 

The two numbers are opposites, 1 is positive (+) and 1 is negative (–). 

Each pair of numbers is the same distance from 0. 



2 

1.5 

2 

1.5 

All the numbers are positive.   
The absolute value sign makes positive and negative 
numbers POSITIVE.  



|–5| = 5 

|–4| = 4 4 ! 5 = 20 

|20| = 20  3 – 8 = –5 



x = 5 
There is only 1 solution. 

x = 5 or x = –5 
There are 2 solutions. 

No solution.   
Absolute values cannot be 
negative because distance 
is always positive. 

x = 0 
There is only 1 solution. 


